restart
Ecua = (x +y2) —2xyy=0

Ecua :=x —l—y(x)2 —2xy(x) (% y(x))

|
o

with(DEtools) :

odeadvisor(Ecua)
[ [ _homogeneous, class G], rational, Bernoulli]

F = intfactor(Ecua)

F = —2
X
EcuaDos = expand(F-Ecua)
d
2 2y(x) (-——‘y(x))
EcuaDos := L + y();) — dx =0
X X X

odeadvisor( EcuaDos)
[[_homogeneous, class G), exact, rational, Bernoulli]

1 2
MM = — + &
X

X

1 2

MM = — + %

X X
NN := 2y

X
NN = - 2L
X

IntMMx = int(MM, x)
2

IntMMx :=In(x) — %

SolGral == IntMMx + int( (NN — diff (IntMMx, y)),y) = ClI
2
SolGral =In(x) — y7 = CI

Ecua
X+ (x)2—2x (x) (i (x)) =0
Yy Yy dx Y
2
SolGralFinal = In(x) — :V(XL) - C1
2
SolGralFinal = In(x) — % = CI
DerSolGral == simplify(isolate(diff (SolGralFinal, x), diff (y(x),x)))
- d 1oy +x
DerSolGral : . y(x) 2 xp)

DerEcua = simplify(isolate( Ecua, diff (y(x),x)))
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d 1 y(x)"+x
DerE = =
erEcua . y(x) 2 ()
restart
Ecuacion = (2~x'y2 - 3')/3) + (7 - 3-x-y2) y'=0

Ecuacion :=2xy(x)2 - 3y(x)3 + (7 -3 xy(x)2) (% y(x)) =0

with(DEtools) :

odeadvisor(Ecuacion)
[ _rational]

G = intfactor(Ecuacion)

G = I >
y(x)
EcuacionDos = expand(G-Ecuacion)
d
7 (:ig.y(X)) d
EcuacionDos =2 x —3 y(x) + 5 -3 (—y(x))x=0
y(x) dx

odeadvisor(EcuacionDos)
[ exact, rational]

MM:=2x—-3y
NN = lz —3x
y
NN:ZL2 —3x
y

IntNNy := int(NN, y)
IntNNy := i —3xy
y

SolGral = IntNNy + int( (MM — diff (IntNNy, x) ), x) = _CI

SolGral = . —3xy +x2=_C]
y
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